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Control System Design

Q1. Conformal mapping. Non-rational compensator.

10 attempts, mean 12.3/20 (61.5%), maximum 19, minimum 5.
An unpopular question. Candidates may have been put off by a compensator which
was a square-root of a rational function. Apart from a couple of attempts which didn’t
get far, most candidates made good progress and were successful to apply the standard
principles to a new situation.

Q2. Robustness and VTOL aircraft.

27 attempts, mean 11.63/20 (58.15%), maximum 18, minimum 5.
A popular question but with rather mixed performance from candidates. The bookwork
was somewhat poorly done, especially part 2(a)(ii). A lot of candidates got bogged down
with lengthy calculations on part 2(c){ii) and failed to see that a simple Bode plot would
readily lead to a solution.

Q3. Bode gain/phase and compensator design.

27 attempts, mean 14/20 (70%), maximum 19, minimum 9.
A popular question with many first class answers that showed a very good grasp of this
material.



